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3 12,623,712
MEMY D] HI|LH &Y 11,716,776 11,076,786 639,990
207 I & 16,500 16,500 0
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02021 MEBMY I £ - 208 DIASISan
= AN 249 11,000,000& 11,000
Oty D] =& - 2 B 29
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OMBMAI| 2 29 ozgetsrg
11,185,636, 000 11,185,636
308 XAXIGH SO0l & 514,640 514,640 0
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1 JIEIEEE 2 50,000 50,000 0
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MRs HeletsSD| 155,850 59,350 96,500
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01 AP 22| H| 152,800 57,000 95,800
OFAXE 2HE SAH| 8,000& x 1 x250 2,000
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-MYII =H HE et 2 1002 *30, 0008 3,000
ORHY4E)D S HIIE Ml =2
200,000 x40=~12€ 96,000
OHEAM E8XH2EY X2l =&
130,000 «x30=Ex12& 46,800
02 B232%H| 2,050 1,350 700
OjtzsksE B4 100, 000& =54 500
O EZY 74| 5,000 x50+ 10 250
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SN HABFD
M mApe
el HRE NZHAZEY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-HHBEEII 5,000& x424 x12& 240
401 Al HIZ 201 8] 21,250 21,250 0
01 A& HI 21,250 21,250 0
OAZAlJthct OIdEX & |RA E=
850,000 »25CH 21,250
MY IJISHED ol 20,000 20,000 0
Al 14,000
T 6,000
405 RHoHE S HI 20,000 20,000 0
Al 14,000
T 6,000
01 AL EZFH S 20,000 20,000 0
ORHEIl ZAIt0et &X 20,000,000& 20,000
Al 14,000
- 6,000
FAaXEEUHS =2 113,792 121,904 A8, 112
201 Let24d] 109,792 111,224 A1,432
01 At 22l 900 1,244 A 344
OHAXE REE2 Sd= 900
-t A(ME NFASIAIY)
4,4003 «1CH=180 792
~ZOoHHW M LRIA(RFH HAEX 2L
4,5003 «2CH =128 108
02 =224l 108,892 109,980 A1,088
OOIEX =& ¥ FFH| 7,588
-EtOI A & =cl 500,000& +8CH 4,000
Sy 1,495% x253] x8[H x12& 3,588
OO0IEXsSA B8 & 80,0003 +8CH 640
OBARZY +4 2 25 89,500
CRLY ATEY BAXY
11,000, 0002 »3CH 33,000
~EATE(5E0[4) 12,000, 000& »2[H 24,000
-E AT (5E0/2H) 6,000,000 »5CH 30,000
-SE8XE 2,500,000 = 1CH 2,500
OXsxEE= 5,964
-ELESE(1E~2.58) 400,000 *120%*4LH 1,920
-HEst=S (58004 520, 0003 *120%*6CH 3,744
-5&(5215) 300,000 1CH 300
OANERLZ2(ERA)
100, 000& »2CH xAH 23] 400
O&HEAXE 2235 € &7 2|
250,000& 143 1,000
OAFXMHEAREE HAHEX A
1,900, 000& »2CH 3,800
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01 A =S FHSH 4,000 10,680 6,680
o=tz zeld 2= 0gEx 7¢
4,000,000 «1CH 4,000
lZzd H3E =K 203,350 0 203,350
Al 203,350
405 TtatFH S 203,350 0 203,350
Al 203,350
01 MM =SFH=H 203,350 0 203,350
OXZBEY =3LXYE P2Y
203,350,000 = 1CH 203,350
Al 203,350
2=8F M2 388,121 346,552 41,569
206 =8l 388,121 346,552 41,569
01 M= Hl 388,121 346,552 41,569
OSEMNSE MH 340,103
-3 ESS 183,300
- 50 312 +60,0000H 12 22,320
- 104 383 +120,00001 ~12& 54,720
- 204 573 *45,0000H =12 30,780
- 304 85& 15,0000 =128 15,300
- 504 1243 %20,00000 =122 29,760
- 758 169& x15,00001 122 30,420
-MAESE 118,980
- 104 413 +65,0000H 12 31,980
- 204 582 %125,00001 «12& 87,000
-E3E8SE 22,068
- 504 1243 +6,00001 x 122 8,928
- 1004 219% «5,0000H =12 13,140
-AEEE ST 13,884
- 504 1243 +50000 x 128 744
- 1004 219%+5,0000H =128 13,140
-AEEE 340,097,000 *0.55% 1,871
OPPOITH 19,092
-A & H IS0t 1,332
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-—SHLMY DI SOt 6,660
- 304 370% «1,5000H =12 6,660
-S3SE0HH 11,100
- 1004 3703 *2,50000 123 11,100
OSASXYI HREES 28,926
-34 243 +50,0000H x 12 14,400
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S HASMED

Hn: mADD
el HolE 2% % NAS (cho &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
-MYDl 2l =0 =22
2302 x10,0000H 2,300
CHE&S =H& 300,000& =104 3,000
OHAEX =HE 30,000& 1004 3,000
O&0lY d+H HE 500& x12,000%& 6,000
OMEESE =1 0t s #¢
,000& *15,000&f 30,000
oda =2|yl 200,000& =103l 2,000
203 € R =&lY| 1,000 1,000 0
03 A=A SR =AH| 1,000 1,000 0
OHJIEZE & MBS ANMFA 1,000,000& 1,000
301 et X =2 5,200 29,200 A 24,000
12 JIEtE &2 5,200 29,200 A 24,000
OoIZtHH MEEE &8 2
4,000,000& *50% 2,000
OHAEX &g AHA 7
2202 10,0004 2,200
ORIEINEESS a2 a3 50,000& *203] 1,000
303 ZAZ 1,800 1,800 0
01 ZAZ 1,800 1,800 0
OMEEE =& Z&UI A& 1,800
-2 500,000& * 10 = 500
-2 = 400,000& 10 = 400
& 300,000& *3JH = 900
307 QI2t01 ™ 59,760 54,392 5,368
05 A2t E = 59,760 54,392 5,368
OHblY ®&Xel 44,000& x50E 122 26,400
OHR2Y /Xl 11,000& *160E 12 21,120
OHE&S 28ty| 20& *51,00001 = 12& 12,240
SASMYI e8F Kl 2,321,660 1,931,945 389,715
201 LEt2AY| 6,500 36,785 AN 30,285
01 AFR2t2l bl 6,500 36,785 N 30,285
OSAEMY D] ZSAE FX 6,500
-EE= 50& x120, 000 0H 6,000
-0 100, 000& *50H 500
301 dEtE A= 3,000 3,000 0
12 J|EtE &2 3,000 3,000 0
OZ2SFe SA2MY I =017 RS Ala
= 3,000,000 3,000
307 QI2t0| M 2,076,000 1,656,000 420,000
05 A2t E 2 2,076,000 1,656,000 420,000




S HASMED

M3 mapel
el HolE 2% % NAS (cho &)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORIZIIIAHSAIE AEH
173,000& 1,000+ 12& 2,076,000
308 XX EHSOIA 236,160 236, 160 0
10 37/ 2S0HUHeBHEAEALS I 236,160 236, 160 0
O4+% SA2 AL A2
18,000& x260& » 128 56,160
OM= BAZ2 NASANE MEZ
75,0003 «200E=«128 180,000
SHEA i & =22 501,203 517,949 A 16,746
239 =22H L A AL 501,203 517,949 N 16,746
- 2R HEAL 8,590 8,590 0
201 2et24d] 1,330 1,330 0
01 At 22l 1,330 1,330 0
OMelot=HXelAld BA0HSKAM
100,000 =108 A 1,000
ORLTSHAL Y4 +TAN 22HS
110,0003*3%’& 330
307 21201 A 7,260 7,260 0
05 RIZt2IEt = 7,260 7,260 0
O2aXeds=2 1,100& 110,000 m" x6% 7,260
SSIHEY NESI e 332,249 283,936 48,313
201 Let249] 139,160 95,716 43,444
01 At 22/l 35,800 30,900 4,900
Ot FA2A2 A UAAE =3 I
A= 600,000& 600
O==st&A st&EX 8 4235 7¢
1,100,000 *320H £~ 35,200
02 =224l 103,360 64,816 38,544
OZZSIA F3E B4 L 2ua)f 2282
10,560, 000& 10,560
O=&st&a 2323 51,000
-MIIRe3 57,000 #2300 A+ 128 15,732
-& ot ER3, S0ERE3
470,000 600 A+ 128 33,840
-HiAY SMes 7,000 =170 2 +128 1,428
OZE&EA 4H2ANL B2l
wQO%ﬂ*JHi*m% 1,800
O3saad =2 1,250,000 *320H A 40,000
307 21201 A 193,089 188,220 4,869
05 RIZt2IE = 193,089 188,220 4,869
Oz&staa 2el 193,089, 000& 193,089
S3sEE AMERA 2l 128,019 117,815 10,204




SN BAFD
M oA 2L ¥ =E2e
Celt BR4% 2P L ST AAINM CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 38,500 40,565 22,065
01 At 22l 5,940 6,325 A 385
O=sstzaa 4285 7¢ 125,000 *35J4 & 4,375
OSSN HES (LS 189-440)
1,435,770& »109% 1,565
02 2324l 32,560 34,240 A 1,680
OZSsEA HSZ 84 2 2k +H +48
6,800,000& 6,800
O3z 5383 11,760
-3 7,000 #3500 &+ 128 2,940
“4oteER3, S0ERES
21,0003 #3501 & x 128 8,820
Ozsst&EA =2l - =4d 400, 0003 *35J4 & 14,000
307 21201 A 69,519 67,250 2,269
05 BIZERIE 3 69,519 67,250 2,269
Ossstaa 2el 69,519,000 69,519
401 A& HIZ 201 I 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
OL%: 3Sa&E4A HE=+ 20,000,000 «1IH & 20,000
SSHEY HLAY 32,345 107,608 AT5,263
201 et 12,345 18,108 N5,763
01 At 22l 12,345 18,108 A5,763
O3 AHMH 4AS5FEH S 12,345
-=AE EH A 6,600 *320H 2= *204 * 153 6,336
-a#I EH A 2,750 3«57 x123] 1,881
-2HI MEH 6,600 3001 x123] 2,376
-2HI| EHA 4,000& +7374 62 1,752
401 AIEHI L 20 20,000 89,500 269,500
01 A& HI 20,000 89,500 A 69,500
SHA YT BEATA NHES
20,000,000& 20,000
HE2LAZH(FAEHAEN) 7,435,343 6,812,675 622,668
AP AHI(HAMI L) 7,320,883 6,693,895 626,988
AR (HAME D) 7,320,883 6,693,895 626,988
101 @144 Hl 7,320,883 6,693,895 626,988
03 RIAHAZ 2B+ 7,320,883 6,693,895 626,988
ogZzaeld 5,436,373
-Jlg= 3,589, 150&*91H «x12& 3,919,352
-4 98,280
s ()
40,0002 *918 0.9+ 12& 39,312




SN HABFD
HM: HY2HAH (HAHHD)
Crol: oS ol (RARE D) )
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
PSS (JIEH) 60,0002 +x91EHx0.9x12& 58,968
-Sc| = M| 498,786
HoHZ A 130,000& *91H = 12& 141,960
H & SOty 3,589, 1503 x91H *23| *40% 261,291
HAUMH=2 1,049,830& *91H 95,535
-ZR2R4Y 667,507
CEQY 2R 107,4202%91% %522 508,312
URY 2R4L(E2D)
161, 120& x5 52 41,892
S5 Y 2RY 107,420& *91H x 12 117,303
AR asEIIY 140,830& 91 x19L 243,496
-AEHSHEX LSS 8,952
E=s-1am 447 6003 x5H 43| 8,952
Ostzd &g 28 689, 157
-=0AUEHS 5,436,373,000& *3.335% 181,304
-=201d32 5,436,373,000& *4 . 5% 244,637
-NE88s 5,436,373,000& *1.5% 81,546
-MEEE 5,436,373,000& *3.2% 173,964
-LoAIIEE 2 181,304,000& *4 .25% 7,706
OXYH thetst =2 XI& 300,000& x10H 3,000
o1 =l 49,595
=225 60,000& 91 5,460
-ghet=s 140,000& *91H 12,740
-9 (&3 65,000& 91 5,915
-Ot& gt 50,0003 *91H »222 ¢l 9,100
-OrA X)) 20,000& *91 =3I 5,460
U FSE=N 20,000 *91H =24 3,640
-gots 10,0003 x91H 910
-H=Es 70,000& *91H 6,370
O&&X &2d 2,000,000& x5 10,000
OgAZ2 988,593, 000& 988,593
Oosdg<=z2 3,000,000& 3,000
O=td&cd 25 sUEsde=2 AH
30,000& x4H x12& 1,440
oue s &l 323
-IHAS 13,000 x15H 195
-SRUHSEEZ 8,500& x15H 128
OEZ2 SHAA(1Y) 139,402, 000& 139,402
PIEE-LIE-PS-T- W'y 114,460 118,780 A 4,320
Jl2Zd(H3AAE ) 114,460 118,780 N4 ,320
201 Yer2 2t 24,040 25,000 960
01 At 22l bl 23,040 24,000 A 960




<

n0

Kio

Hl w

A 3,360
A 3,360

H3r
Wikd
RIS

1,000

84,000
84,000

9,780
9,780

Off &t 24

11,520
11,520
1,000
1,000

80,640
80,640

80,640

9,780

9,780
9,780

Ax128
128

=

=}

Y]

2 x4 x5 A %

o
[l

40,000

8,000

30
0H
20
Ho

3

2| x5

=

o

200,000

=Xd

A& EHI

=

=)

OFPC

01 =LHOI LI

202 Oddl

KO0
K
0
<+
o+
ol
)

<123

2

| %0424 %14

=

=

20,000

K]
KF
-
ol

128

2l %

815,000

KJ
KE
oF
)

80
0H
=




